Fiond Saght LI Trgectory Aduster JTEEIY 4B, BT

Feterid g Mot .-""-f

mmnnm; ;a; Itp 5 J"mm”“ﬁggé

o
T
P
LT |
am Pl dileing ey
e i . IER Pl Gnp
Mgt mrindns bevot
FAaNwE  mEE Trnsctony Adpnser A ﬂ{- MEREFE Siock
From siegicop  From Soht W Fuiy Salocier o

2% Cocking rands

B W rake Saencm

' [l L E R T Tragectony Aowae
My Frn Fepnl Sagid BT
: I ¥l Cocking hardie | Pmar wag EETE Butatocs
T el I
L, -r._ b et Sy | B .-' ."‘-.___ ., T,
= = T |
! t [&5 i - I e -« I
L an” ([T TN I~ |
From sieq bop b II,"I,I [ ] Ve, . AWiE R
!I .-'_." ') | 5 Y, Firng Sutecior
I B M ! ’
Flaraiuiard J."' | l-d-"".'
/ ) ", . E.:”’ n
.-{'.'_‘.__r" | Frmg Tegges o o
# N E Pwtnl (g
i L] WEER
Llaird WAL ool i

R Tramcitey Adunion  Flacmsm Flear szt ARTEW
Flada wlfey Hosg

/ HEHE Siock
F_

T ' : A = Sl g o ik
L - . | A i i
I ! Slok kever
[/ [Veguten SR e
o Fﬂz‘” Stiock oo
i wiE Fring T
£ Prated Clrp R e W E Pan gep
WLaGA e TERA D ey
(A3/5,5D3/6H) VB (A2/4,SD2/5MH) A b
SmallRegular Capacity
battery (lor A3/5,5D3/6)
8.4V-800-1100MAR g | e
9.6V-600-1100MAR & ith Large/High Capacity = b vl Eid NO. MC-35 9.6V
battery (for A2/4,502/5) Charger for Charger for AC/DCIRIZFRN
8.4V-1300-2400MAR Small size battery Large size baltary AC/AD Quick Charger

BATTERY POWERED AIR GUNS

9.6V-1300-2400MAh &L

Battery and charger sold separate




B =\ ®th753% Install Battery and Replace Fuse

LYY B7H

|lllI
/

f

\\h‘ ix;
N |12
N2
=
=
=

MRS FEROEESN R

Push down and take of the bult-plate,
than taka tha wire batbery connecion
and fuse conlainer out of the butistock.

FUSE REPLACEMENT
A
NG

*\\‘ .'1:1'
N3

E B ENARENL o
Carclulty pull the fuse container out
o thy buttsiock

BATTERY POWERED AIR GUNS

W,

e

N
X0

-,
. -
e

HHH:&._-"" =

2 fTRERBREERRY -
Opon the fuse container and replace
i huse,

by vt BATTERY INSTALLATION

.
e

T

L™

Y.

ARG AR & iR L,
Connect the baftery to the battery |
connachor cansiulhy:

¥ et Cordaarass Tl BN MR

2 WEoNERRfSERRONE
Cargfully put the battery and wire
Back o e butisiock

LR Ee 1L Wl BATTERY AND FUSE REPLACEMENT

l3/6

1] BEE#sT [E_

Pull out the locking pin of
the handguard.

& IR EmMALLS f
Slide the handguard lorward, 1{; |

0, mRNNERRESE . ==
LERN ER ol
(Left) Connect the battery .
to the battery connector.

(Right) Opan the fuse containar
and raplace the fusa.

Slide the handguard backwards
and re-insart the locking pins.

R change tuse

A | EEREEOIN
THE POSITION OF THE BATTERY AND FUSE

Fuse Containar BEELE R

¥ |
T o 1

i - i -
E E | —

[, P
Fuse Container BESME  Battery B3R Connoctor B

PO
.-.-54- . *‘t;,. Barral B

% ;J Battory R




AR
Pull aut tha pin of the handgurad,

HrFETTOmMEEEnas
Gaently pull the front end of handguard

down. Slida the handguard forward and
lakoa it out,

A 850 FUSE REPLACEMENT

1 EERETFERES

Carefully take the fuse out from
the fuse socket located at the
bottom of the cocking tube.

e
1]
i

S
a4

2 - B
Replace the fuse.

BATTERY INSTALLATION

1 | FREHRRSE A TR
Connect the battery to the battery

connaclor. 3
L. I
[ﬁ-lﬂﬁb '.I:ll.
"R
{Baitery) kHJ
[Mote tho position)
T o B (Barred
THE POSITION |
OF THE BATTERY

AND FUSE —aFfi. |
i 1.1 J—,

vEN  emm
(Connecior)  [Batiery)

BATTERY POWERED AIR GUNS

B TEEBHB Movable Parts

B SELBBE Setting the Sight

& 0L (Fore sight)

1. ZEESEN Loosen the screw.

1LEEENEEEIMETER
|| - Turn the scraw 1o move

__-_/ thé réar sight wp or down.

3 TERMETHAMTEER
Turn ihe screw clockwise fo move
the rear sight 1o the left,Counter-
clockwise move it to the right

.4.‘ Pull the refractable siock

Lf | \ B 1E 5] PO ) il 1
Rom

ANEaEET R
Push the retractabla stock locking lever,

R, (Rear sight)

B SRR Fine Adjustment of

(zear Engogement

L M 5 L
mMEATEREECR

Use Allen wrench to adjust the molor
and gear to the best engagamant.



B EEfRiES T Selector and Safety Lever

“"“—WP \
\Y (U \

\ =

: | I./I
\
0 o) 8 Full Aute ‘

=] MR Semi Auto 53] 88 Safety

B Hop-up B8% Trajectory Adjustment(Hop Up)

@) x ® "M Excessive adjustment

® [F W Best trajectory

B &3 TS Load and Unload the Magazine

» MR A e
. E#E-‘FEIEIEFE

e Inser the magazing
® Push down the maga-

< zine release bution to eject the magazine
# Pysh lorward the magazine release lever o eject the magazine,

O o

BATTERY POWERED AIR GUNS

BN Adjustment
FHONEEN - ASNRERD - & TERERN Push the TrajectoryAdjusion 10 low position, Switch the Firing
FRENE—IR-TREWEE

Solecior on full Auto position and fire. Siowiy adjust the

A THE PR IMETHE RS A DA Tralackory Adiabicr for s st dhooting Taiecon




A2/4 A3ISILA

-\-\'.

MP-27

e . P ~
E_ P H}f .-\._H :
-.. - I . _" ; ...:.: : %
M3x6 S
3 o - B -

o . B

T MP-11

BATTERY POWERED AIR GUNS

: Maxl4
l\e q : MP-31
=

- M3x8

MP-39

- SPO2.8x8

MP-37
A3/ SDABFHHA

ko8 MC-62

< i
SP)Sxd — =Le .~ ] !
MP-03 ;_;p_.?;-f o
¥ Mz
M3x6

MP-01

5

MC-61

P/W3x8 l'\ '. \ MP-3s
'._ I'll -l % .-.h

S5 \ MP-43

=l FIXIs
M3x6 P97




NO, 8 . DESCRIPTION NO| & | DESCRIPTION
E‘“f' ~ MP-18A35 SD3/61H 'MP-01 Iﬁﬁﬁ%ﬁ%iﬁ -anking Pin MP-32 | @EEERE Inner Barrel Bracket
(0 MP-02 | E%giﬁ@jﬁ ' Fire Selector Lever (Current) MP-33 éﬁ*ﬁiﬂﬁﬁﬂ-ﬁ—-ﬂmhing Handle Spring Guard
MP-03 -EE &8 Magazlne Release Button Se‘t | MP-34 F-Eﬁﬂi’aﬁ | Magazine Release Lever Sleeve
;MF‘-DE -E?EJEE[ Butt Plate MP—SS %&EH | Motor Spacer
;MP-D? Lﬁ%‘é#ﬂ SD Fake Silencer -MP—BE -ﬂﬁfﬁﬁﬁ?ﬂ}—#. Sling Bracket
MF’ 08 IEDEW’FE | SD Cocking Handle/Tube Set IMF'-B? FAEJE SDEFEEE#H-_ Handguard Battery Wire
MF’-DH 'SDTiJF%E | | SD Handguard MP-38 A4 SD2/58 R ' Buttstock Battery Wire
""‘””“ \B 'MP-10 sngﬁ:ﬁ.ﬁgc sD Hanguard Bracket MP-39 | AlRE " ABarrel
MP-11 smuxe-ﬁmxgz SD Locking Pin O-Ring 'MP-40 | SDIgE ' SD Barrel
MP-12 SD"EIE,'"ETE‘ SD Handguard Locking Pin -MF‘—M | S2ES - Metel Receiver
E:; AE’;LS.?T? R ' . MP-06  pp-15 - —ElAAL, Aﬁ, A Handguard iMP-drE :i%-_-; i#ﬁ%ﬂ@*lﬂ Lower Housing(Current)
s i f""‘ MP-16 ﬂga X#B(3lug) | 3 Lug Muzzle MP-43 S5;M3REHR | Heat Sink Motor Plate
§ MF‘ 17 IE]E#E?E Fixed Buttstock .MF‘-M -?ﬂmh‘xﬁﬂﬁﬁf Cocking Handle Spring
MP-1E f$E$E .F"Ietractable Stock 1MF‘-45 -Eﬁﬁf&.‘}]ﬂiﬁilﬂ .Fire Selector Lever(Early)
MP-19 |HKEAIG® Locking Pin 'MP-46 rﬁmﬂﬁmﬁﬂﬂ' Lower Housing (Early)
MP-20 sp£2% (£%)  SD Front Sight Assernbly \MP-47 | Si82:388 (1) | Selector Plate
MP-21 fﬂﬁﬂ;mﬁ rSto::k Stop Set IMC—EM daﬂﬁ’ﬂ}iﬁ ' Selector Plate
MP-22 ;HDF'vUF*?ﬁﬁ rTrajE::tﬂry Adjustment Group :MG~1E 1%&'@!&']& | Hop Bucking
_ MP-27 h#ﬁ’f-ﬁ | Frnnt End!ﬂﬂ-cl-:ing Tube Sets | MC-17 IHDF‘EﬂFE | Hop Spacer
2 MF' 30 2002EERWE 21}[} Rounds Hi- Eap Magazme-mc.m %:i L Motor
MF' 31 ﬁﬁ%#ﬁ Hear Sight Sets MC-62 :GEﬁH-E{}HE. &0 ] Gnrﬁplate gear box sets

IPDF CREADO POR SNIPER, MATADORES AIRSOFT CLUB

www.matadoresairsoft.com MADE IN TAIWAN

BATTERY POWERED AIR GUNS


Danny
Cuadro de texto
PDF CREADO POR SNIPER, MATADORES AIRSOFT CLUB

www.matadoresairsoft.com


www.matadoresairsoft.com



